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1.

A system of three forces;acts on a body

and keeps it in equilibrium theJ forces
T

need to be

T A B "tf_gb r'h!
(a) coplanar only - 600
PO Tt R,
(b) -Loncurrent (mly

: . ‘ IR LELY RN AT ‘,g\!

(¢) coplanar as well as concurrent

R TR Y
(d) coplanar but may or ‘Mot be

concurrent TGS,

» o
The maximum VG.IIOCi‘tS} Arid maximum
acceleration of a particle execuling
s1mp1e Harrr‘xomc mohomI are’ 2 m /sec
and 20 m/ SeC . The time’ perlod of

motion equals:tey. vr o e D0
@) m e
' PN
) Z et by
[ i LR
(c)” i o TTT L

il "l]'z-"c,l’(i:' il N v

(d)

VPR e ey

Tl * T

ST-06/(MECH. ENGG.)-C

1)

T

4

5.

6.

-

“7.

. .' EN [j I T
Centnfugal TOVernors are, prcferred to
inertia type governors bek:ause an
5’ i-

oo -’rj}
(a) has less controlling torce

inerfia governors

(b) is highly sensitive and more pronge

—- ir

" to hunting : 3
(c) poses problems in the balancing of
Wy
inertia forces Col

-\

{(d) has high initial and mamtenanw

AN fh'n

cost

Which of the following drives is best

ri bz suited for large velocity.ratios 12

(a) chain drwe L
(b) spur gear diive -2t (5)
(c) helical gear drive Tur . i

(d) worm and worm wheel

For a shaft rotating inside-a bearing of
radius #, the radlus of frlctl(m circle is

equalto * =T T
AR -'L' }'J IR
(@) r .
: HRERIYS FR
L) remd)
: Tor. LT e e SN
{c) rcosq) '
T P
(d) rtan¢ ‘
1';4’

where d- frlctlon angle.

The area under the ‘%tl?‘w‘: strzzun curve
] [ : . i .
represents ! 8

{(a) breaking strength’of matefial

(b) toughness of material’

- (¢) - hardness of material

(d) energy required to cause failure

v

P.T.C.
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8.

For a beam of length [ simply,.
.supported at its ends and carrymg
umformly distributed load 0 per Tnit*
" length, ‘'maximum bending moment

occurs at the centre of beam_ and is

T e, L,

lven by ' . ’
f g }nn., er o, LT e
5 FIEES PR
(El) wl CTRLTY . At Ly
. .2' g { gy .. : L
et e .
ool tes PV VI
(by — o .o
4 o '
worte alening e can e '
wl? !
(C) _— P TAN N
8 .
A Ly 70 oy )
1
wl o
(d) — ’
8 ~
9.  Stiffness of*a: materidl-is expressed in
termsof .~ 0
(a) mass density . oon .
(b} hardness number. v »’
(¢) ‘modulus of elasticity
(d) impactstrength .. - . .. .. -
P T S B TRRC 71 70T TN -
10. Suggest the welding , process often
used in joining rails
(a) thermal welding .
[ R v
(b) submerged arc »};el.(:‘l@g g
() thermitwelding
fo )
{d) percussuon weldmg
PSS TLIVE O 2 IR
11. Which of the following has rnax1mum

thermal conductnrlty

(a) aluminium,
TR :lo;'!"."’,

{b) qtee .

(c) la1j§1$s

Sd)glass oo Ly

ST-06/(MECH. ENGG.}-C (2)

L

o
(ORI

oS flow heat exchan eris ‘ 3

12.ML M T D in case of counter flow heal
exchanger as compmcd to paraliel

- — .. (a) _higher _ "' ‘.l:'.

t (b) lower., = 4 BTSN M
n ot '.“l v e P e
(¢) same ‘
* CR ) I ot
(d) depends on the area of the heat

T 3 1' " M

exchanger'j;‘. e :

13. Which of the [()lllc)wmU does not. relate

../.H * \-

to a two stroke peh ol engine

(@) flywheel i,

(b) fuel injector - S
SO TTe o argrrieyy )
{¢) carburettor

.
PR NS S M

(d) spark plu0

STER YT A Y P T IY ST BT B | \

ORI B e A Yro D Tae,

14, In a bo11er supelht,n"lhmj ot ste1m is
: done at ':-{ ) .l-J - -‘:
(a) constant volumo L
{b} constant temperature
{c) constant pressure

(d) constant entropy

—~

15. An economiser in a boiler
(a) increases steam pressure;
(b) increases steam flow
(¢} decreases fuel consumption
ot
(d) decreases boiler etficiency
siorlemiaeaty mrpomLrer . Teed B s w ] e b el 6l e
162 7In’an: air compressor,* intercooling is
done for the following cffect
- . [

(a) to reduce the work inpu.t

(b) to reduce coolant temperature

() to increase cooling tower
efficiency e
(d) to increase the work mput
D-mSIT LR N L

'!'J'.}.L-'.\‘:\ ‘\.- .

44 /
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17.

While measuring the volume flow rate

of air in"a’ compressor; a .drum is-

added to the system. The objective is

(a) to increase presstire

(b) toincrease mass flow:.

(c)» tﬁowiricreas_c—;‘swept,volume P

R .
LT oo

. {d) to 1educe flucmahonb '

18. -

19,

20,

.I{\ir in

The’
refrigerating

‘diameter
compressor  in

suction * “pipe
unit
comparison to delivery pipe diameter is

(a) larger CRIESE
! .
(b) smaller
S o -
{c})..-equal T
TR - o
(d) dependant on capacity
Lithium bromide; . in  vapour

absorption refrigeration system is used
~ v
as . . : ‘- et
(a) refrigerant
Lo ooy -
{(b) cooling substance

N T
(¢) auxiliary refrlgérant'

(d): absorbent = - o

.

Domestlc Wmdow Air
Condltloner is dehumldlfled by

(a) heating‘ e -t
i R i,
L

(b)

cooling

e !

(<) inje(:'tfif_lg_r}yat‘s;r,J

(d)

injécting steam: i ‘!

ST-06/(MECH. ENGG.) - C

~rof

o

I

(3)

s

W21y

i

(d)

22,

23.

L I
BN

24,

25,

r .

s

‘Which of the following machines does

not require quick return mechanism

LT
E

(a) slotter S

(b)
(c) shaper

planer L .

broaching '

Routing prescribes¢he , «

) flow of matu'iaiq in the plant

(a
(b} proper utlll/atmn aof l(ndll power
(
(d

() proper. utlhzatlomuf machines

) both (b) and (c) o

PEE R

In which of the following layouts, the
lines need to be baland¢éd ' -

(a) process layoutr ..
(b) 'product laym;_t,' .
(C) flxed p051t10n lay(mt

R RETN
(d») pIant layout, e ber

Process layout is employed for
(a) batch productmn

(b}
{c) effectivé utilizati(m of machines

(d)

contmuous produdmn

All of the above. . .,

im_3of air ata. prcé‘qure of 100N/ cm2

‘is* allowed e,\pand freely . to a
volume of 10 m- The work done will
be SR
(a) zero . T T
) 10°N-m

e 'f: YA
{c) 9x10 N -

(d) none of thesb*- i1y ¢

DI P.T.0O.
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’,./’.‘ . ’ o
v 26;" Which of the -following -parameters
'~ remains  constant .during ideal
throttling process
(a) pressure R o
(b) temperature , . .., ;.
{c) Voliffrn'éfi-_"’” renio S
e e e
hal
) F.fssﬂa,l?y Ve (L
‘27, Total ‘héeat of ‘alsubistance is also known
as S PRt
(a) mtemal energy
Sl 11 14 A e S T T
(b) entropy ..o
(c) thermal capacityye, .
(d) enthalpy " o 0
i eyt o ‘
28. When a body floatm&, in a liquid, i

displaced slightly, it oscillates about

i) cf’g.*of-theab‘ody'*;. :

]

. o Fig

{(b) Centre of pressure
gy PR PSS R SR
_(c) centre of buoyancy
(TR

M 1
riv © N PR

(d) metacentre; ., .t

i .. 28:.iFlow. of water in.a pipe-about 3 m in

- f

1o

a

diameter-can be'measured by
';"'_..- .'.,. 3 e r o -l'l_'."'J"

(a) orifice plate o

(b} venturimeter ' ¥
f Ful = 4 ;‘,' f\;:

(c) rotameter

T
- b

- ’ Uf x & -{"1;
(d) pitottube .y f_‘a:

* ST-06/(MECH. ENGG.) - C

ﬂ-ﬁ",__, [ S P - [— — e .

-

Y

G

30,, Venturimeter is used to measure flow

.- -+ of fluids in pipes when the pipe is

" .(a):‘horizontal - -, ,
(b) wvertical
(c)

(d) " in‘any Position” v

inclined

31. “An elévator ‘weighifigl KN attains an

upward velocity of 4 m/sec in 2 sec

RTINS R : :
w1thluﬁ1form accelération. The tension

-+ jein'the supporting.cable will.be .

oy BOTNT
(c) 1200 N
(d) 2000 N

Coo@UI000NT L

‘l.!._‘

13
motion  of

of

32. is

If a body
translation

. Totation, then the total kmehc energy
o JIJ

having

as well as' -motion

is given by

(m¥Do? v

SN 4 5% oA SR N i

(b)

R | =

P
3(m+ Dw

- . oo o (ﬁ}

(c)

102 T2
Sme” +—fw”

Sl L by, Ly

(d)_'%%n o2 +w?)
L T

LI R

33. Two pieces of stedl'and brass of mass
o ,2 kg and 1 koirespcgtwcly fall freely

!( I
under the actloh oOf ura\nty from a

tower After a dlsta}lcc the following,

will be identical, | o r
(a) acceleration

gl
{b) momentum

(€) kinétichefgy s 1)

(d) potential energy.i (b

§1 =

LOLET IR 3
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' 34 Two simply qupported beams are of
equal length, one carries a central load
w and other, carrles . @ . uniformly
distributed load <;11ch that the total
load is .w. -The" ratio. of /

deflection in the two cases is
* T

-

maximum

(a) 8/5
o (5D
(b) 8/6
o, r{,‘( yilg/7io D i o ai, SRR
{.’H! o Pt 'r” T r'i:‘Ci.’
r nr *(L )., M'/:.;}” 7 ronrl: :-,;j‘r.'j

- T

35. Hoop stress i a- thm cylmder of
‘diameter J and thickness ¢ subjected to
internal pressure p will be

{a} pd/at m Tl
(b) pd/t L)
() pi/2t S0 ()
{d) 2pdst
S A T 1 ) 1SR .
36 LA beam of umform q‘t;engfl}i is one in
SYRIRE 1;Wh‘chr P i F;»r:ejj';a

(a) bending moment is
R STy IS Lo(r}

same
throughout the bea '

(b) deflection is same throtighout the

length C- -
{c} the bending stress 1% same at every
section - (2}

cpe e (d) ,shear, stress, is same, throughout
SRRt

the beam DY S

- 37. For20° pressure angle.involute profile,

minimum number of teeth on- ‘pinion

willbe L M_'
(@) 6. W ety
(®) 12'v‘-£rr" T o {00
{c) 17
) 20

ST-06/(MECH. ENGG.) - C

'}fi:

(%(5)

.38. - The ‘minimum number. of tecth which
can be cut for standard tooth for given
pressure angle ¢ is equal to -

(a) Zanm

pal
sin? @
by~ ST
(@) —2__-. L) £y
, sin? o _
crin ol mp e He oo e AT Nt
’Z'JIT'.)U!O\(d)fi'—n_" i i Lo ¢
s e gl £SIgy, niigr oSt b e -
ﬂh [ LEDEERD B T SRS IS PIYOORE 0 ey

39, Blankmg and pmrcmlT operatlons can
T bé perfotined: «.tmultaneously in

[live allgdd o557, TICLBIRGAR ¢ = pinafogy
(a) s1mple die’.

VO ape et
amsga  9(b) jprog§§$§i\’€-aiie Rt fe)
FH“J‘J!'O
() compound die
el g BU A2 B S TP I PN S il
(d) combination die.,.,,

‘-

21l 40, Tangsten. content in Flich tspeed stecl
8 _ shisy
cutting tool-materialisabout

Jtroqqo (@)1 16.% 5 gl oy lnipito 1h)

(s IS T
() 4% ,, 7
WOl “eofn oo A AR
K (C) 010/0 -
T e e fen oo Amslon
{1oom ,'.a‘(d) 1% e iy
. o

)

41. External scer throads can be mass

produced fastest by i 1 8% ()
(a) Milling

1280 (d,

(b) Chasmg

N {2)
(c.). Castmg START
(d) RolIing
f\'t PRI “.'?P; T-0
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42. wGraygcast iron is:best welded by«
v .-'; ‘I1 0, OIS TN AT 2 10 TREIE T PR -
(a). TIG sl eden o gy K

(b) Arc

() MIG . =i = .

| {d) Oxy-acetylene :

ilie

(R

43, The maq‘-:es of two balls are in the ratio -

of 2 : 1 and their rebpéctlve velocities
are in the ratio of1* 2 but in the

pp081te d1rect10n before 1mpact If the
U ety TN TR (TP

cgefficient . of restitution, is 5, the

|o|-e

velocities of separation of the balls will
be equal tO \ s by "PIQUTH Lh)

(a) original? veloeity>Tin {‘the same
direction
b bhrnooenes ()
(b) half of the original velocity in the
same direction fro, fi)

fad. (¢} -half of theloriginal velocity, in the
' -opposite direction 4, -,

- (d) original velocity “itv the; opposite
direction

"y

44. A body moves from“ rest w1th ‘a
constant acceleration of Sm/ s?. The
distance covered is 5 s is most nearly
to N

S B TP L vy forers, PR
(@) 38m i, g1 i oar

(b) 625 m T4 LTICRR
(¢) 96m sruead 3 () :
s (9)
(d) 124m - TR0
wiilioll 1h)
ST-06/(MECH. ENGG.) - C ' BT

W g h;i(@{)r -'porésitj! STy

100 45. .When trymg to turn, a, key mto a-lock,
b, ..~ following.is apphcd L PR

- .
’ "‘[.‘1-' IS B TR S

i
(a) coplanal force
[P S lahs TR b al it Trpenoa ir)

+ 1.7 (b) non-coplanar forces ol
SRR LT [N VTR AR
(c) couple

{d}) moment
YA rf,\

46. The ratio of heat ﬂOV\’\Q]/Qz from
two walls of same thickness having
their  thermal CUI‘ldLlCllVIllLb as

£ . -I.<,1 =.%1111<25W§'L! be. Ll Uil A

¥ (a) T Lt e L b

ce I i g LT nd

‘(b) 05 vy

() 2 e ()
(d) 025 oo )

LSy

47. Accordmg to Stefan's law, the total
i 91 " radiatioh Bome Ao hlackl budy“ per
second per unit arca is pmpm tional to

1 f:)
a) abbolute tempc ntmc (T)
ur gt
) 2
EH Juodg_(b)‘i,n} crunE Fatedyainh ()
-3 ST

© T -

VIS NSIERR el L e p!';hnerl aei {0

(d) T R 6 IS Jas

IOPAEIOTAR b navrd uead P .
48 Thermal conductivity*'of ‘¥lass wool

. Sy iyt 1 eqfat
/ .depends on INVWIRRSH]

ayn YA
COWT Sy Pl e el e ".".r"!
nsi '
(b) density Uiy

(¢) both (a) & (b) 3 )

-(d) none of the above o (f",)

P
0. (b)
(6) D~ WAL IENE0-T2




S 49"‘ The relati%iﬁ between Young §'mofiilus PLIB2:! 'Wl{ichf("):'r'j@ is not'a thetblig] A B

(EYAnd Bk Hoduiug (K)§ Fiven by ‘ o1 bustpn
0-8 (r) . (a) Use -
: - [ G I VT . h LS. MAVDIES ()
(a) E:K(l—-] e ) Ciraa €
ST am PRL-NT (o) {b) -Hold - m AR 2LD ()
NL-E1 () -
. "3V T o ! (¢} Dlspatcln1 -1 WDI b"' P )
Lminiage (b) B (1 ' U)thc. sty T8 "
4 e U -1 ‘ ' S \"f!f £ by
tele {d) Inspection A
= AL spond {a} Yo seped arli bovolz od of 2i ey 6 erlW X2
(c) E=3K [151‘:-_:;)"5151’1”. oy 15593- ngalue)Wforr_malu ¢uengineering ¢ and
‘ m .
000V (3) analysis P}lﬂ'l@f’.@t:-.l?:d?.fl.l,lt.d@,b
" N A : - ty ; /
d) E= 312!(31 dl]]mu (k) o . (a). purchase value:dsihn (5)
. 1 1)
: Puty i Ol M Amsiudna DA 1
. : } ; (b} Saleablevalue” Aoy (Y-
et vy - L T SRS T 47 SN ,
where nis mverse of Poisson’s ratlo CaiATTI 4T
.- NPT I TRSIA S () , () deprecmtgﬁi\?glﬁg » )
v oomire b nrast n-.,i"]'r'fh‘u' (= : i g rnaniog (B
50. "The shafts a;‘e“d‘gg,;_g_r,l.elfinflcl)r B (d) functlon/ cost
ey e sy 0 (Lol s aram #e 4 s ferasD 82
RS (1‘)‘ st{ ‘ tili e feenst ) 54.- Bernoulli's theorem is appluable for
oA STEeDEN. rir e g
Y g r‘a‘L gre g |
[ O 1(1;) 'i‘i::!i:chi'i't‘.‘ Coen ot ourtd o LfG © (a) Streamhne fldi&‘”f"’f {t:)
Cdide 0 IR B wonni o 19!’ mix(_: : - .
TLREATIEFY AU NN BERIST ) SO N wainn : anrens ofdizieurtt ()
! [P : ' r - H ; - :
) -~ (b) Steady flow
ol j( )h;bOth (a) and (b) w2 ';{“ arrpns torsihy ()
A AT LY B 0T ) '
il gy hiorie: ‘of the above"m-" ”'” (c) Turbulentflowte 4ney (b)
SO (AR , .
N ""3 vie (d) PEFFECt { 'ih'c'oi‘}hﬁ'fé'sqiﬁfé Luid
51.  Micromotion study is — () . ’ﬂowmg in‘CofitiAtions Streams
.l ) o4 ;‘-\ . . ) R )
’ » (&) enlarged view of motion study ' 55. In the case of- steady flow. Of a fluid,

RS

Ll STILRN the acceleratio lan fluid partici
(b) analysis’ of bnl); ‘one stage of for'of any fluid particle is

motion st'udy (a) (E(f)nstant\ ‘ P b
. ) ';‘ ; ’
(c) time st d“—f mall con ¢ o Grax o (nY ,
c) time study.o *s all components _ (b) Variable
up to mlCI‘OSGCOI‘ldb ) i ()
. (@) Zero _ o
(d) subdivisiofl____ofgan_ Opﬁzygtion into Hir 1'1ni () -
: - therbligs;and t_l}g,i{\analysis - (d) Zerounder hmltmg conditions
! i iy ;‘m =, avitnears (h)
B .
' ST-06/(MECH. ENGG.) - C 8T : e~ LA J-IDZi’fﬁ_)XPW‘E."*O.
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' 56. A pressure of:25 m.of-head of water is

equal to

(@) 25KN/m2 =" )

.

(b) 245KN/m?  bBloH (d)
2
(C.) 2500 KN/mrbisr.re"U )

(d) 25KN/m
i qr"( ”\

57. When a gas is to be stored, the type of’

| £53 ‘”comprebqlonﬂ"that~-’iw011ld='be ideal

- [(maximum:’ eff1c1ency) 15‘?; an
1

' {a) adiabatic,, LT ()

. () polytwopic. , .\

I (c) Constantvolume
RANE I A R S

(d) isothermal

N J . [
l. - 58. Camot cvcle has maximum efflcmncy
i X "'fof"l‘ !" . f r("hi} YRS (VTN \. -

(a) reversible engine, ...,
(b) irreversible engine
Aol asie -
; (c) diesel engine

(d) - petrol ériging™irdur®

rn99.  For. -bolytropic process, the specific
g heat is given by | the relanon ‘
n-k
. -u.“] A ICHIJIC _1)'lfl ‘s ‘

R LI O TTIS TA

For 1<n<K, Cn will be

n 1]
i

-.,'37) oty

roa uh'r; L] ;r:.',

'”l “‘-J { L3
{a) Zero
1' " Aownr
| o ‘ (b) Positive
! 0N ()

- {9 Infinite

I erroblibiis rufr:m Fobng X ()
{d) Negative

4 ST:06/(MECH. ENGG.)-C

(3(8)

) .,}60 In’ most high speed m1ilmg cutters,

oy p051t1ve radial rake angleis -
(a) 2- 6°
(b) 7- 10°{~'—-—fu S i)
(c) 10-15% .
(d) 15-20°
f & }
61. Navier Stoke?‘ equatmm aré'associated
with s
(a) Buoyancy
{b) Turbul‘e?ce j A Ty
(c}- V15c051ty . ' ~
(d) Compr_e551bility .
62, Turbulen(l:e in flm'»v’ l.I‘l}’:lpI]t‘ '(l‘

(a) non- umformlty of flow
Ltinien san't ATy
(b) Unstéadiness o How
(c) transition  from laminar and

r ’ -y

T .
turbulent ﬂow : t w1

~

{d) random component of velocity
quperlmpobed ‘on monn Flow

63.. The heat flow equahon [fhrough a
cylinder of inner Fadiud’ r] “and outer
radius r2 15 desired to be written in
the same formuras that for heat flow
through a plane wall. For wall
thickness {amhathe gquiyalent area
Am would be -

A+ A,
{a) o e T ) e
. ,(B), . Aln‘",‘,/{Z L PN L
A
g 2 2logl 22 u o
LS ) ' A’l L
PAEPAPENE LS TRY ¥
© Ay - A
C
RTBILETS (1 S ili;r.. A2 35 FERTTE PR
O'!'
rb; A Tt

i :;uij(a)qf) f.f"iZ:E*' .’ﬂl;.‘-.’ Jitaduee (1)
“icglen sladd heA i ol
C 2log, ==
1

D (NOUMB M wpteTe

M —_—
b = -
[
Nt e t———
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;- 64... - An. mcrease m convechve coefﬁcmnt
over a fm Ca o

.-

{a) increases.effectiveness !
“mbhubuig o (o)

(b) decréases effectiveness
Frry ;Hr“r” 4 (e
(c) doee not infliience effectweness

tar . i 1 (')
(d) influence only the fin efficiency

noiiysbaneg o granio {F)

65. When a petrol engine is supplied with,:-

fr. rgairidiesel fuel, F o4 i fap ":L,s,;,*; Y

SRALAY
(a} the engme will not ru

(b) the engurfé Wiir Aohstihe' ‘more fuel
(c) the engine''Will. operative with
" reduced output

i el :!f‘n“ u’ ’u'
- (d) the exhaust will have dense black
smoke ‘cdnes o, i (L

‘J:!§6.}7"Ip_. spark{- 1g‘n‘1£1'(‘)\1%qy_engme \the

. possibility:of knockmg can be reduced

bY: il e L osovdio J"u_-«mrrr

(a), jr}gfe’a;%ing compresqlon ratio '
LR A A

l

68, The eff1c1enc of Rankine cycle "
2 hrs BAEANY FIT VRS T \,.u:}juu) I‘; .1u"')!i1'YU "] AN

Ynlimi b 2D q P
(@) increases w1th increase in exhauqt

press-urei ‘1’3 fj"')?“"'j )‘I.[}“ fﬁ] )

Nl {(I‘I r.;“ir) (“
w1th decrease ~ in:

‘temperature-ofihea Lrejection

iy

" (b) increases -

3 \

{c) - decreaqe o tPl

raisuer SIPErAtyLe of hea

ST IO N
“Mcréase * in
ectlon
e SX
R
(d) is mdependent of temperature of
heat

“ : pressure

rejection! i id {7 )exhaust
! _‘;gﬁ'l-"..‘;' ;;”

69. A Bell Coleman cygcle is:a‘reversed

(@) Brayton &ycle b v nly i+

sidfed < YT
tkinson’ Cycle - T

Lo il‘.;l):-h
usaln sy

Tettenpdaieeg
{c) Ericsson cycle

(i et s iy (L)
{b) deqeasing comprebsmn ratio - / ' (d) Carnot cycle
LR RS b C PN 4 AR ;l-- g o . - . SN T
. : L o 3 : L, 4 NIRN fr»j {d’(." -
{¢) Increasing the coolant .
! Stempetfaturél ¢ v 46 () 70. Which of the:; ;.follo_wing(. type of
. compresser is generally used in
o radvancing the. 'k timii o
(d)nadvancing.the sp ark timing domestic refr1geratorf fatt f
"1 674 The. term heating:surface:in-a boiler- A 1530 dnees UL w L,y e
means eyl N (a) aXIal : - . - '
' BEIREE IS A T T
. . P et VT g . . - '
(a) areaof grate it n r (b) centrifugal - P
(b) volume of furndee'in., (¢} el .
‘ (¢) mixed ﬂd S hasvesy (d)
{c) outer surface area,of-boiler shel] - : o
. . vl - }(,;u €0}
i : d) piston type reci )mcatm
(d} surfacegarea whichuiis{in contact @ p Yk F 5
. . ! tiiovn] I fearg oy {i5)
with flue gases T .
ST-06/(MECH. ENGG.) - C (9) - o
( ) (a¢9) | T-{20%E ot S

| » | N L . - . ' / - - . e
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71. In (Sﬁ\hb'g;o!ﬁél"'ci'l'tt{ﬁ'g?fﬂé‘t‘uftihg eﬂ\:ige
_ is perpendlcular to '
foanrbe 1. urnsiLt adier eenpgTnt by
(a) direction of tool travel,

_ (b) ‘shear plane

fil Lt sh r}?n'w AR, (i J)
() diréction 'of*d'e'p'th' of cut

ti ' ',(d) ”I:l'()nel(i)‘f' tbe ab‘?}{'?).'!'.l oo

r Carde ¢|[u -“ .

ESRTL A A IRTITA -
72. " The "mietal reémnoVal ‘during machining

is by,
{0 U S e el Pi
Sopral @) ccutting. - el
ot
(b) tearing
(c) shearing - craabn sl AL

(d) plastic distortion, . i

73. The process ¢ of making I hollow, castmgs
R
from permanent mould by a cloqe
fitting core is known as
oy f1Je, "Jr i ;' .

(a) centrifugal casting

P

P a,

" (b) pressed casting

(©)7 slushcasting: 4~ Sl e
i“' - |!||" Jf‘J, ¢. LR L LTI

(d) lostwax cabtmg b

74. Greater flexibility m plant layout 1s

achieved in case of
(a) ‘process layout''t i

"(b) productlayout .

L T
(c) group layout'
-||'|'1 e l ot Hl“-_,‘_":."_- “d\’ '
(d) fixed p051t10n layout 3
p‘ T. :-. PR -
ST-06/(MECH. ENGG) - C '\ 710)

75, The break—evc_n Hointis” “loast ‘affected

by

JI:II‘ )r()

: &y *r!')aii-) ageRgnd (a
(a) product mix (&)

el Ty, i 2eaegal ()

Ab) selhng pr1ce

/).

Ceonavisa s nnt fonsach  (9)

(c) - fixed coqt i
oY it s len satmsi i (D)

(d) volume of production

SERVINIRLERIE SRS SEL TPl Ce I A CAlh s R

76. Routing and sncheduhnblarel_.mtegral

'
23

(@) product planning 4,

part of .
s don U saigno udt (n)

(U)
(b) .work study i 8oy
14- : Ilj.,":J Jil':T
() job analysis
T PR TR IT I I N IV H RN (LI PN

(d) quality control 4,

2

i

i 4 !:i . N
7. The expresqmn ) j pdo,  gives™ the
Cooaloron il LELS

J'ze"';.ru..

jr

H

¥
]
measure of work done d uring'!

G L gy AMend Ty
(a) steady flow Tevétsible process
NI GIPTRAPY S ieT 'r"-[" IR SR
(b) non-flow rcverslblc procu;b

s (]
(c) open syqtam and any process

1 (d)iany system and.any process

-1 78. Second’ s Law:. -of thermodynamics

defines - ' ' aE ST
(a) entropy . .. 7 U

(b) enthalpy: i asriioe ()

() vefficiencyr ATe e T (L

y 205 (d) internal energy aoba: (i)

cepngoulia

PR R NI s B .
|0 ARSI E LA
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.. 79. , Which of, the y, followmgT is -.an

T J1p1rrever51ble cycle T Rl

(a) -Carnot Co
S e g By
N H ;(b) Stlrh}ﬁg oenclimng (g .
R O L S TN
K (c)"*“All Sf the above sl
,.":':.l \.III ’4
) (d) None of, the above,“- A ()
80." St'lleﬁ‘mhnes' Stréak™lifes, {aAd - path
lmee are allildentlcal in caise of e
(a) tniform ﬂow e fah
TRAAT g
(b) non-uniform flow
Jws ALY ) y
(c) Steady oW i g o
ro ati ' i
Lon rrnr(:) t Onalaﬂlo“:“:m P R~

o TR bRy e "

81. hogonal cuttin of metals the
}H'W TSI Y p ey ISViitenan

cuttmg edge is

+

,/l.- 1/1

(a) perpendlcular to the shear plane

(b) perpendlcularfto the*worfk piece

(c) perpendmular*t’g “the direction of
tool travel ra

(d) none of the 51{’65}3" 7
82. Process Iayout“q S

(e (a) al]ows Vanetyg products to be
R LT .‘made on-the same, eqmpment
:.‘!:J!’!'Q:-’.’;'r; )1!* || “a :}{1 et nj fi if‘ Ay

is sultable for low volume variable

:)i"’;,if'.l{ d Ud' a1 Lhinn .
eman
it G(J'H
(¢} less  equipment ,\,for,, general

purpose and less ef:(pen‘gjljve

(d) All of the above®s t¢ (3j

T (k)
ST-06/(MECH. ENGG.) - C.

({1

1. 83, Chip breakerq are used, in cutting tools,

” LR Y Vi

i O Y '--"Qr.s..'
41;1'){1 [ROI- RN I i T ,"_- i ; ‘f’\;""l"‘
g TR
(a) mcrease tool hfe e
A T AT
"_‘I" DJ “r,n“ L :J'J‘: i —.LlUJ‘ ({

1 (b) sprovide smoothi path'7for long
arr o 1 ol chlpsi SN et
S, vt Casln H‘ “dilnfrysn

. ol P laavr ey RYene
(c) "break the chips into short .

min 8 (g

Il

segments

- _ SIS 64 S A
(d) All of the above

SRR i)

84. Broaching is used forimdchining

R BT SR e Lot 2
(a} internaland external surfaceq

Sinoepaly ¢ (R}

(b) rounding #619r 1rregularw shaped
hOles - f‘f:\""r_“"}‘_- f")\

Ao s (b
(c) teeth of a gear

ol io Mitvr e e sl 3
e (dys-All of the above ]! 3
B IR ST [)an— AT ] ‘{..}
85. Taylors philosophy  of  scientific
management pavq attention to
tho b e .
(a) Conversmn mputs to  desired

outputs

ar b') IR YTy r;r»r'imr_-'ar;:’ 1
! : )

). ~Jime managemgx\}s dre

LRI R fe) :
- (¢) - Planning" Tof¥ g appropriate
6 ot deon Jma_r}powe,ri i (d)
Tabr }.'n '-yif;'r e s/ro

(dy M0t10n economv prmaples
r Jrii (f{'lri\.})jlrﬁ il 9259k 3)

Lovorsarit o [l {h)

, ' P.T.0.
- (5993 HOIMSD- T -
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g6 A soldéring ~opeératioh’ “was  work
sampled over two days (16 hours)
during which an employee soldered
108 joints Actual working time was
90% of the total time and the
performance rating estimated to be
" 120%. - Ifiir-the  contract 7 provides
allowance of 20% of,the total time
available the standard time for the
operation would be

IO N - ; + R \u‘
~{a) 12 min ST
- (b) 8 min
L A ETUNLITRE B | [! . ‘V_H
(¢} 9 min
, (d):.10.miny; |, Y ERNPLIT IS =

87 A tool s1gnature comprises of

S e, L S iy
(a) 5 elements

. (b),1.6 elements U

(c) + 7 elements, e

(d) 8elements

88. While machining: which of the

following improves surface finish

(a) Increased depth of cut

PIHs I " S L
(b) . Iricreased_ cqttmg;sgeed;-

{c) Increased feed rate .
. (RPN HETEE N e

e
{d) Formation of built-up-edge
89. Break-even poiit incréases with
(a) increase in fixed cost

(b)

oo te,
45 ' [

increase in ‘variable cost for a

given value of price
RSN

()
(d)

I YR I ||,

decrease in unit contribution

All of the above

gxa Lo,
T (12)

ST-06/(MECH. ENGG.) - C

-

Yo i

'90."" Thérmit" weldmb dlffclb iftom Uth(."
methods of wuldmb in the“fnllownn, '

way B LRI N

(a) It does not use heating

(b) It employs exothermic ¢hemical
reaction | lfL?rJﬂde\(clop‘ix_llg high
temperature

It takes lésy ﬁmc‘-'-‘f""”- £

(c)
(d)
_ Ohe poisé is equal'ts "B o i
(@) 1Ns/m*, n
(b} 0.5 Ns/m
© 0.1Ns/m?

(d)’ 0.0l'Ns/n't' Fi

P It doe‘; not requuc electmdu
L . cert I [F [

91.

O

Ty s

A )

Loe 0 Lo (:'j‘
i

92. If N, and N2 are ‘maximum and

minimum. equ111br1um speeds, | then

L NI T moLaentin nl
Sensitivencss of | gavernor will be™*

EAL AN 3] S
: ;f,* (a) l.'-’ ‘2le R )~"_‘;’T' b V.'l
A Ny N aner g O

a9l 0,2 ey

(c)

Bl Dir A B
N] VNZ r AR j ﬂn)

Nitl2 g e

N{-N5
2Ny Np) e T

l"u

i

(d)

93, pro]echle is fired*dt an angle a, such

i that? its*'Horizéntal ‘range is 500 m.
What is the angle o if the m

ST R n
horizontal range "G th projectile. is

maximum

1000 m LTIE sy,
v (@)r 60°" + c a2 IS
..-(b)t)45°1 L N v ._;.:.'-_111 1y
(¢) 22.5% casarianilt (},
) 15° '
T ) }'{‘{{. %

o
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9.

95.

(b) stable

When the governor is over sensitive,

the sleeve will oscillate between two
extreme positions on slight change of
speed. The governor is said to be

“(a) isochronous +

* {¢) unstable’

(d) hunting

A bullet leaves the'muzzle of a gun
400 m/sec.
Assuming constant acceleration from
starting point to muzzle, what is the
time taken by the bullet to travel a
distance of 1 m through the gun barrel

with a velocity of

(a) 02second - T
() 0.5 second : ‘ *
' ! - : 10
L 1
. {c) 0.005second . .
SR SRR S

(d) None of these

Al
i

96. For two springs having same stiffness
(k) are in parallel, the equivalent
stiftness would fbe
A
11‘ - (D
(@ % T b .
® 5% . o
(c) & .
_ - - b
ot ’ “:n“ .\.(. - .
(d) 2k : :
ST-06/(MECH. ENGG.) - C _ (13)

. (@ Non-ferrous metals

101. 'S.1. unit of viscosity is

97 A man falling from a height /" starts
rotatmg mldway of his fall. The
vertical velocity with which thc man

" will touch the Lrround w 1ll be

(a) ,{2 gh
{b) less than /2 gh BN
(c) greater than /2 ghey oo

-(d) less or more but never equal

to/2 gh

98. Which of the following metals has the

lowest meltmg pomt ' A

(a,) Aluminium _
(b} Silver
_(g) .Zinc
(t;l) Tin
99. Die casting ‘is -gen;:r:_lll_\'/ nof used for
{a} Zincbase alloys

(b) Aluminium base alloys

rif oy N , !

(dy Cast Iron, Lo

100. Lathebed is made upof -~

(a) Mild steel |
(b) Cast steel
ALET - '!’fl oo Gy
- (¢) Close gram Cast Iron
(d) Plg [ron™" “-'-) X ‘

tee s T

I A D SIS
{a) 10 times poise
(by 9.81 times poise - ferd
,,{€) equal to poise

(d) None of the above

| AR S A T

P.T. O
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102. A mercury water manometer mdrcates

.o a gauge drfference of, 400 mm. The

,dlfterence m pressure, measured in
meters of water is. -

(@) 04 e
(b) 0.8 # e
: '."' —r‘ e C iy . ,’I :
{cy 10.80 ;
(d) 5.04 co
i "ul.'; L ‘) , “ -

103. A most economlcal charmel section is

one which for a gwen croqs-sectlonal '

)
FS B
area Tt £

. A .
(a) has maximum velocity of fluid

(b) has maximum dijs;cha'rge
ey e

T ﬂOer'lU Tt

(d) has mé’xirﬁﬁrﬁ wetted perimeter
R R N LTS
104. The centre of gravity of the volume of
liquid drsplaced by an imiersed body
is called SR

\

(a) Metacentre-::, - .. . n

(b) Centre of'Bii'ci}"f'é}{c:y .

et fe ’J) Vo,
{c). Centre of pressure
f N LI FTRARY) S )

v !

(d) Wetcentre,, 5 .:c

105. Multlstage centnfugal pumps are used

Fali |l|r\1 f(.-

(a) . To produce hrgh heads

ARNE] ,)
by To grve hrgh dlscharge

_ (c) Both (a) & (by together
(d} To pump hrghly viscous fluids

ST-06/(MECH. ENGG.)-C

(¢) has maximum depth of fluid -

106 The purpo‘;e of auwe' tank "in A

ri-
PRI 1

prpehne i$'to

LT B A

ekt ST iy

" (a) 'Smoothen the flow of water
(b)Y Minimise friction losses,in pipe

(¢) Prevent occurrence of hydraulic

jump _ S AT

(d) To relieveuthe pressure due to
water hammer

107. The speed of a submarine can be

e 0o measuredby o0 0 o
Nopoo M) 0 e e - D
.. {a) Pitot tube
LR e T T e

L 1 R Y PP IR
(b} Hotwire anemometer
R ! .

LE SN

’(c):. Pirani gauge’ -
(d) Any of the above | . |

108. A disc of moment of merha Iy s

mounted on ‘a "shaft of ‘moment of

inertia I,. What is the natural

frequency ‘gfrtotsional vibrations, if
-torsional rigidity of shaft is g

e
centiu s by

\

1. 1qg
oM m @ BT AT e e
) 2 Il" b e

T T

N . . Pt
1 qo_f LI L Y R | "

by — |— ' : .
() 2r I _ ,
* L\ﬂ' : * !
1 3
(c) 9 Fe
27\ 3+ 1,
I | o
( ) 2 I] +IZ i !
L S, T s
(14) \"’ P Rl - *
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109, The moments of 1nert1a of a sohd.

C1rcular Gechon of radlus r and of a
hollow c1rcular sechon of radii ¥ and R,

each about theu dlametral axes are

o equal then 1 ,‘[‘.‘ Ca L far o e

B o LT )‘) ] 1
S i?(a) 13—2-1‘ S R A ‘.'*.
{I>) R=14141r 1
(c) R'=1189r . Lo & i,

(d) Reisnearly eqital-to rHin (2,

IR frr gl e Cewoa G .
110.  The ’5pééd ' Variations " of “the engine
durmg a cycle for constant output load
[ j,... A e e }{'j { .
R TaTY G '
{(a). D-slide value
, e Ty
(b) Governor )

(¢) . Flywheel - .*" '

R S T T SR
(d) Mayer's éXpangion valtie ' ¥

i "; O) el 2050 4 L .
111, The design of thi¢ &yifhdtical shells is

bhased on

(a) hoop sti‘es's

{b) longitudinal stress
(c} volumetric stress

() average;ﬁf hoop and longitudinal
stress '

112. Deflection in a beam is maximum .

where the slope is
(a} Minimum
(b} Maximum
() Zero b

(d) Changes sign

ST-06/(MECH. ENGG.)-C

113. The inlet valve of a four stroke cycle
" " T:Cengine remains opefi for nearly -
LTS PR Lo
(a) 180° Coe Tl ey
NI . o .
(b) 125° “
© 235° el
{d) 200° e
114: “lhe : capacityi: of- .a. compressor is
5m? / minrefers to r:
eflend @), Standard L
LA 'r-.r ; mﬁwg fives
{b) Free alr _ Gt
(c) Compressed &ir SAEIIAE
(d) Compressed air - at “delivery
_ pressure
'I}"::IU " DV jr_!'4i;_l ER
115. The refrigérant for. % nrefrigerator
should have
R
(a) high sensible heat .
(b) high total heat
(¢) high latent heat
k.
(d) low latent heat
116. vSLiper heating in a retrigeration cycle

(a) increases Cop,
(b) decreases Cop
(c) Cop remains unaltered

(d) other factors decide Cop

https://www.freshersnow.com/previous-year-question-papers/
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117. The Cop ,of a vapour -,.'cbml'a_;ess.ibn 119 Heatmg and dehum1d1f1cat10n cm bc
plant in comparison ‘to  vapour o ach1eved s1multaneously 1f air s
absorption plant is passed throubh L e
"» . ' R r
(aj more e (a) sprays of water mamtamed at a
) temperature higher then the dew
(b) less R 7 point ttmpcrature of the entering
iH air W
(C). same ' , (b} asolid absorbent surtace
| v (d) more /. less dep’enqmg on :size of _ (c) aliquid abﬁ@‘b@ni spray i,
| © o oplant e v ianen ‘. - . _ :
l . . (d),_:anw?e;s%i the ,(b>.-;1}.1§?(6>-.,, Fee
118. On psychromé'tr'ic-' chiart,’- wet bulb T TP TS SRR SRS Caf)
temperature lines are 120. Dew pomt tempc ature 1s alwavs an
: ] _ Gaono e _ ) ' indication of
‘f "~ (a) horizontal ) : . ST b
{ Crated L (a): dryness of air
L . S P O B
' o 5 (b) verticle e (b) latent heat
; : Y ST et
L4 E . -
E (c) straight | inclined sloping (c)  moisture content of the air
0o 161 .y, -downward o the right . - e e e
ll ' D  (d) coolmessofair ..
i (d) curved : ' ‘ pod e fuane o
l‘ i PO :
i‘ ' ] ' , v
. s a_."r [MTERY| ' t *
e e
r , i 'r
; 1 L 1 vt 4 3
. - Ca Lo .'-‘,L’L s r A (4
v e
'
: ' SRR B
! : s d N
I . + Ha )L 1" R
' G
- - Ty
' i
¥ '
| : :
!
! : ’ ‘ ' -
, | ST-06/(MECH. ENGG.) - C : (16) S
| : : _
i
bl
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